== A
N = 0] &F AF S & AN A
20198 &= 20l AF LBHSIH & Al
S8 X2 M
¥ 5 58 84 A
e sg=s4d I MY (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
2 xkel A M 2,435,015 2,497,569 N 62,554
= 516,207
g 181,300
Jl 1,672
Al 727,079
- 1,008,757
s SMY =4 I 725,388 613,290 112,098
= 204,913
g 32,000
J| 1,672
Al 235,002
- 251,801
sgs4d A& AIY 558,188 473,690 84,498
= 174,963
g 32,000
J| 1,672
Al 171,202
- 178,351
SHAMOARA S 2H XS 1,610 1,680 AT0
201 et 9| 1,610 1,680 AT0
01 AFR 2t 2| bl 1,610 1,680 AT0
OsZaoeas B4 +g
70,000& 15 13| 1,050
OFEsAsANE SAXNIEH 2R E FA
=y 70,000 *4H «23| 560
Ssool DM ItH &2 A 3,600 11,200 AT7,600
Al 2,340
5 1,260
301 et A= 3,600 11,200 AT7,600
Al 2,340
5 1,260
02 ¥st=24 st = 3,600 11,200 AT7,600
Osgol DM Xt sx2 X 3,600
Al 2,340
- 1,260
SIJ&8dlg K& 178,252 125,030 53,222
= 121,962
Al 28,145
- 28,145
301 LBt A= 178,252 125,030 53,222
= 121,962
Al 28,145
- 28,145
12 JIEtE A2 178,252 125,030 53,222
SI1&8dl2 X 178,252
= 121,962
Al 28,145
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CEE B (BH) - HBAY - BAS %Eﬁ HR=2
- 28,145
ZIITHEHE 2 ESX M A& 10,000 10,000 0
Al 5,000
- 5,000
301 LBt A= 10,000 10,000 0
Al 5,000
- 5,000
12 JIEtE A2 10,000 10,000 0
OXJIMH &2 22 10,000
Al 5,000
5 5,000
S I|8E | 40,000 40,000 0
g 32,000
Al 4,000
- 4,000
403 XX SHHS K20 & 40,000 40,000 0
g 32,000
Al 4,000
- 4,000
02 BJ&2SHUst=A 40,000 40,000 0
O=gJ|8rE | 40,000
= 32,000
Al 4,000
- 4,000
sgsd 2435 15,280 23,480 A 8,200
201 et 9| 10,900 15,200 A4 300
01 AFR 2t 2| bl 7,900 10,700 A 2,800
Os8 MY EEE 70,000 = 100H 700
OsXlo 8&2el Xt 7,200
02 332%H| 3,000 4,500 A 1,500
OsXle 28z2e 3,000
202 04| 3,840 7,680 N 3,840
01 2Ll 3,840 7,680 N 3,840
OsXENEYZ2 T AN
10,000 4«8 x 128 3,840
203 SR F & 540 600 A B0
03 AIZH =& 25 X H| 540 600 A B0
OsddMd g% 600,000 *90% 540
Aol THoHeH A ZAH A 2,508 2,508 0
Al 1,254
- 1,254
307 2iz2to| A 2,508 2,508 0
Al 1,254
- 1,254
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06 283 2,508 2,508 0
O=gQl Maoietd M 2,508
Al 1,254
- 1,254

JEFsgAE=E 700 1,000 A 300
= 700

301 et a s 700 1,000 A 300
= 700

12 JIEE43 700 1,000 A 300
Oozed sg AdX=2d XN 700
= 700

SKOISAEHZ AR elHdl X& 1,672 2,053 A 381
J| 1,672

101 @124l 1,672 2,053 A 381
J| 1,672

04 JIZHHZ2Z2XNSE+ 1,672 2,053 A 381
OsXOISAEHZALR 21 24H] 1,672
J| 1,672

FUHAESEUIALS 9,872 60,000 A 50,128
2 3,949
Al 2,962
T 2,961

402 RI2EX=201 M 9,872 60,000 A50,128
2 3,949
Al 2,962
- 2,961

02 QI EAILSEZ (OIS ) 9,872 60,000 A 50,128
OJ3UAIE SUHEAIS 9,872
= 3,949
Al 2,962
- 2,961

RIOIAIE SUSAL (AlY]) 31,500 0 31,500
Al 15,750
- 15,750

402 RI2HXt20l M 31,500 0 31,500
Al 15,750
T 15,750

02 RIZt 2 AL EZ (OIS ) 31,500 0 31,500
O J0AIE SHSHAI (AlIH]) 31,500
Al 15,750
T 15,750

SA=0F HIUXELAL X2 10,887 50,000 ~39,113
2 4,355
Al 3,266
- 3,266

- 160 -




2N

X{ XH -
S =

Sl SYSS N AY CERED
= _ — d =
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402 BI2FX=01 M 10,887 50,000 A39,113
= 4,355
Al 3,266
- 3,266

02 QI EAILEZ (01X S) 10,887 50,000 A39,113
O=Z=20F MIHXZZAE X 10,887
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Al 3,266
- 3,266
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T 7,500

402 RIZFR201 A 15,000 20,000 A5,000
Al 7,500
T 7,500

02 DIt 2 AL EZ (01X ) 15,000 20,000 A5,000
OAE230 HIIMEH 2RUlE DA 15,000
Al 7,500
- 7,500

SANsEEE ZHAY 29,600 33,000 A 3,400
Al 15,800
- 13,800

201 Let249] 2,000 1,000 1,000
Al 2,000

01 At 22l 2,000 1,000 1,000
OZAN=sg Ler29| 2,000
Al 2,000

307 glz2tol & 27,600 32,000 A 4,400
Al 13,800
T 13,800

02 It M AHE X 27,600 32,000 A 4,400
OZAN=sgHE ZdAEY 27,600
Al 13,800
- 13,800

SANRE HEBSsTMH X 2,000 2,000 0
Al 1,000
- 1,000

206 = Hl 2,000 2,000 0
Al 1,000
- 1,000

01 MHZ 4l 2,000 2,000 0
OZANsg&eEE 2e&d s X 2,000
Al 1,000
T 1,000

SR A2+ 2,500 10,000 A7,500
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T 1,250

206 M= Hl 2,500 10,000 AT,500
Al 1,250
- 1,250

01 =4l 2,500 10,000 AT,500
OdXNHE RIS 2,500
Al 1,250
T 1,250

MEfstsd STSE =4 16,000 18,000 A2,000
Al 8,000
T 8,000

307 glztol & 16,000 18,000 A2,000
Al 8,000
T 8,000

02 (It HAMAEE 16,000 18,000 A 2,000
OdEHstsd stuseg =4 16,000
Al 8,000
- 8,000

EZ(sH)eo XY 3,000 0 3,000
Al 1,500
- 1,500

307 21201 & 3,000 0 3,000
Al 1,500
- 1,500

02 HAHFHANEEX 3,000 0 3,000
Oes(sH)o HxH 3,000
Al 1,500
T 1,500

Olglol Xis S&stn 29 25,000 0 25,000
Al 12,500
T 12,500

307 21201 A 25,000 0 25,000
Al 12,500
T 12,500

02 HAFHANGEEE 25,000 0 25,000
O0gol A= Hegsty 29 25,000
Al 12,500
- 12,500

E3 2 IRAS ESAMY 15,500 0 15,500
Al 7,750
T 7,750

307 glztol & 15,500 0 15,500
Al 7,750
T 7,750

02 UAHFHAEEE 156,500 0 156,500
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OsttE AE A=l 5,000& x20A 100
TSEsud YA XA 56,780 0 56,780
= 28,390
Al 14,195
T 14,195
307 glz2+ol & 56,780 0 56,780
= 28,390
Al 14,195
T 14,195
02 RIZFE MM E X 56,780 0 56,780
OzxzssSsud Hg2da XA 56,780
= 28,390
Al 14,195
- 14,195
S22 NEEUSAY 14,500 0 14,500
= 5,800
Al 4,350
- 4,350
402 RI2HXt20l ™ 14,500 0 14,500
= 5,800
Al 4,350
- 4,350
02 2IZt 2 AL EZ (OIS ) 14,500 0 14,500
OEEAE ANEEUHSAIY XA 14,500
= 5,800
Al 4,350
T 4,350
Bt AlE2 220 SEHER2IZ 20,000 0 20,000
Al 10,000
T 10,000
307 glz2tol & 20,000 0 20,000
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- 10,000
02 It M AMHEE 20,000 0 20,000
OZAN=sY BlialE 220 E8€E 29 20,000
Al 10,000
- 10,000
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T 73,450
SOHX M AtOHHE 500 500 0
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203 H R =&l 450 500 A50
03 Al =X A2 =& 450 500 A50
OXHSANE 43 HRFA 500,000& *90% 450
Mol AR FEXA 5,100 6,260 A 1,160
201 L2l 1,100 2,260 A 1,160
01 At 22l 1,100 2,260 A 1,160
OLARIZEE s 299 1,100
307 giz2tol & 4,000 4,000 0
04 QIZFHALAIH B & 4,000 4,000 0
O AE ste S0t e At 4,000
QENTE 22 250 200 50
201 £B-2dH| 250 200 50
01 At 22l 250 200 50
OoAgeg ANE MA MZE 2502 *1,00004 250
HEANE AL US ALY 242,817 104,850 137,967
= 151,117
Al 71,036
T 20,664
401 Al Bl 28I 242,817 104,850 137,967
= 151,117
Al 71,036
T 20,664
01 A& Bl 242,817 104,850 137,967
ONSAIE A& Ha AHY 242,817
- NSAE FIHEUR 1587 9H &3
Al 19,585
= 13,057
Al 5,440
- 1,088
—NSAZE HEI 2 IS WHSA 19,917
= 11,950
Al 5,975
T 1,992
- NsSAE A2ZEH Ex3A 20,010
= 12,006
Al 6,003
- 2,001
-NSEEMNE &8 FH| 17,000
= 10,200
Al 5,100
T 1,700
- NsEEAME CCTV X & HIISA 26,959
= 17,972
Al 7,489
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-NSsdSE=SAMNE 584 FH 10,000
= 6,000
Al 3,000
- 1,000
- NsEEESAE CCTV &X1 ¥ &EII3A 17,309
- 11,539
Al 4,808
- 962
-~ SMHLAIANE 58 FH| 21,780
= 13,068
Al 6,534
- 2,178
—SSAE tHg2e &1 17,550
- 11,700
Al 4,875
= 975
—EDANFECHE LTS EE, HFA
B+=3A 12,991
- 7.795
Al 3,897
T 1,299
—E23AME ASSA BE 19,914
= 11,949
Al 5,974
- 1,991
—HEYINE &8 FH 19,852
= 11,911
Al 5,956
T 1,985
-~SHANE =28 FHI 19,950
- 11,970
Al 5,985
- 1,995
OlHX 2el & HHEEAM =g 155,790 105,418 50,372
= 86,477
Al 48,975
T 20,338
HUX ™ 2 S5 155,790 85,690 70,100
i 86,477
Al 48,975
T 20,338
MBS JtAAAE W& 39,690 21,690 18,000
= 31,752
T 7,938
403 MtXISHHE X201 E 39,690 21,690 18,000
= 31,752
T 7,938
02 SO 2SOCHeH 2R 2 E A I 39,690 21,690 18,000
OM2US JIAAA HE A 39,690
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T 7,938
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= 11,970
Al 14,630
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= 11,970
Al 14,630

01 A& 8l 26,600 51,720 AN25,120
OB HIZLMAIE &X 26,600
= 11,970
Al 14,630

OHZL=CIXIHE2EHR EHLZUYEAILE EX 39,900 0 39,900
= 17,955
Al 21,945

401 Al Bl 2B 39,900 0 39,900
= 17,955
Al 21,945

01 A& HI 39,900 0 39,900
OMZ=QXIMNEdEZERE BHEZFLHAE & 39,900
= 17,955
Al 21,945

FHAHE HUHXS XA 49,600 12,000 37,600
= 24,800
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- 12,400
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= 24,800
Al 12,400
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NEIsH el A 298,600 298,000 600
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2 LXeld M
M AXCIoHE O
ool N 2 33LRel #E (=& &)
5 - 4 14
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OgXelyzietets A - E22 M= 8,000
307 2I2t0l A 20,000 7,000 13,000
02 RIZFA MM E X 20,000 7,000 13,000
OJgetZ A A 20,000
HEETEEL 2Y 160,000 120,000 40,000
307 QI2t0| ™ 160,000 120,000 40,000
05 oI2t2 et 32 160,000 120,000 40,000
OFEETYENAL 2A22Y /A 160,000
NeEFcy FdEAdNe MG (Re0s20F 2E 7Y 174,460 0 174,460
T ALE )
= 63,700
- 110,760
308 AHXI S M SO0l & 174,460 0 174,460
= 63,700
- 110,760
10 SISO CHEH A X < & A HI 174,460 0 174,460
O20l==20F FAFY "+«H AL B, »HUAE
Ol AtZlZ22 EAIE 174,460
-JIZ= &0 X (8Y) 107,360
= 39,200
- 68,160
- AMREUHX(BY) 67,100
= 24,500
- 42,600
NEFcd HEHAR2 ME(FERTLNMA BH+ 20,000 0 20,000
29 0AHEE S8t Start-up, Step-up!)
= 10,000
- 10,000
307 212t01 & 20,000 0 20,000
= 10,000
- 10,000
05 DIZ2teEHS 20,000 0 20,000
OFEEXILNMA BEH+ 29 0IAHE S ST St
art-up, Step-up 20,000
= 10,000
- 10,000
HE2IAU (L2 M) 119,238 75,146 44,092
FHEBHMHSH (2 E2HY|) 31,024 0 31,024
FEYBHEH2Y FAERA oA 31,024 0 31,024
101 2124 d| 31,024 0 31,024
03 RIAHAEZZRE 31,024 0 31,024
OFgagd Jl=a2 2,020,540 x12& 24,247
OFA+g 720
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e FEIBHEH2I (LB 29H) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
- E=Z (X 40,0003 x12& 480
- JIE>2(EHH) 20,0003 «12& 240
O=scl=4y| 3,975
- Z A S A 130,000& =122 1,560
- Y EFOHI 2,020,540 x80% 1,617
= A= 1,595,720& *50% 798
oz 10,406 & x10Al 2+ x12& 1,249
OdXtmrasF/IH=E 10,4062 *8Al 2tx 10 833
Jl23l 88,214 75,146 13,068
Jl2&l 88,214 75,146 13,068
201 LBt 17,414 14,426 2,988
01 At 22l 17,414 14,426 2,988
O=AEX ¢ 20,0003 70 A 1,400
OEuH 4,014
== 175,000 »2CH x63] 2,100
- ZHZEd 319,000& 448 +1 .5 1,914
FMEEIE2+=8HI 10,000& »20H «12& 2,400
OAZAZ2X SAHl 8,000 541 «20H 128 9,600
202 O4dl 67,200 57,120 10,080
01 =2 LHA YI 67,200 57,120 10,080
O2LH o HI 280,000& 20K x12& 67,200
203 YR =2l 3,600 3,600 0
04 FN2ILSF=TH 3,600 3,600 0
ORN2ZIRF&HI(2021015t)
300,000& »12& 3,600
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